HOME CARE & QUARANTINE PACKAGE DETAILS

DISCLAIMER:-

Employees have to make payment on their own for availing these facilities and SAC teams or team members will in no way be responsible for any issues, liabilities or eventualities (Medical, legal or monetary or otherwise), arising out of this guidance or help.

It may be noted that these services are being offered by SAC Teams and Team Members in good faith, purely on voluntary basis and humanitarian grounds. The beneficiary in distress seeking guidance and help is free to decide on the final choice of option related to the treatment mode, choice of hospital, transportation etc. at their own discretion.

SI No	Provider	5 days	7 days	10 days	14 days	Remarks
	name					
A)	Home Package					
1	Dr Darshil	@6,000/-	@8,000/-	@11,000/-	@15,000/-	SINGLE HOME VISIT-
	Shah	1 Home visit by	1 Home visit by	• 1 Home visit by	2 Home visit by	4000/-
	9825949579	qualified Physician	qualified	qualified	qualified	• 1 Home visit by
			Physician	Physician	Physician	qualified Physician
	Dr Vaidik	• 4 Tele-				
	Chauhan	Consultation by	• 6 Tele-	• 10 Tele-	• 14 Tele-	• 1 Tele-Consultation
	9601074848	physician/ critical	Consultation by	Consultation by	Consultation by	by physician/ critical
	(Team of	care specialist	physician/ critical	physician/ critical	physician/ critical	care specialist
	multispeciality		care specialist	care specialist	care specialist	
	doctors)					Covid guideline
			• 24*7 on call	• 24*7 on call	• 24*7 on call	instructions
			availability of	availability of	availability of	
			medical	medical	medical	VIDEO CONSULATION -
			attendant	attendant	attendant	1000/-
						• 1 video Consultation
			Daily remote	Daily remote	Daily remote	by physician/ critical
			vital check	vital check	vital check	care specialist
						Covid guideline
			Covid guideline	• Covid	Covid guideline	instructions
			instructions	guideline	instructions	
				instructions		

SI No	Provider	5 days	7 days	10 days	14 days	Remarks
	name					
2	Tri-star,	Starting from		Customised plan		competent medical
	satellite	7,999/- for 5 days		Rs1000		officer visit if needed
	Gaurang Raval	Teleconsultationby		teleconsultation		pathology testing at
	& Kritika S	senior MD, certified		by senior		reasonable rates
	9909952592	nursing staff visit,		physician MD,		attendant/housekeepin
	9460396205	PPE kit		Rs1500		g if needed
		Medicine/injection		competent		oxygen concentrated
				nursing staff visit,		(additional charges)
				Rs2000 medical		
				officer, Rs250 PPE		
				kit, medicine		
				extra		
3	Livonta Home		Package - I	Package - II	Package - III	Daily home visit by
	care, Narwaria					doctor, one visit by
	Dr. Asian		Per Day	Per Day	Per Day	nursing staff and tele
	Bariatric					consultation by
	+9198250734		7 Days	7 Days	Senior Physician	specialists.
	02				Tele Consultation	- Routine medication as
			Senior Physician	Senior Physician	Fees (for 7 Days)	per package of patient.
			Tele Consultation	Tele Consultation		- covid-19 test and
			Fees / day	Fees / day	2500*7=17500	relevant pathological
						test including CBC-ESR,
			2500*7=17500	2500*7=17500	Medical Officer	LFT, RFT, CRP, LDH, D-
					Visit Fees (Only 1	DIMMER, S-FERRITIN.
			Medical Officer	Medical Officer	Visit)	-Will advise for HRCT
			Visit Fees / day	Visit Fees / day		THORAX test-free pick
					1500	up and drop-off would
			1500*7=10500	1500*7=10500		be included.
					Covid Care Kit	- Kit including N95mask,
			Nurse Visit Fees /	Covid Care Kit	(Medicine, Pulse	thermometer, pulse
			day	(Medicine, Pulse		

	Oxymeter, Digital	Oxymeter, Digital	oxymeter, hand
1000*7=7000	Thermometer)	Thermometer)	sanitizer.
			- PPE KIT for all staff
Covid Care Kit	3000	3000	who will be going to see
(Medicine, Pulse			patients directly.
Oxymeter, Digital	Laboratory	Laboratory	- Extended service of
Thermometer)	Charges (one	Charges (one	hotel accommodation
	time Covid	time Covid	and hospitalization with
5000	Profile)	Profile)	actual cost.
			- dietician Consultation
Laboratory	4800	4800	as and when required.
Charges (one			
time Covid	PPE Kit	PPE Kit (1 Day Kit)	
Profile)			
	800*7=5600	800	
4800			
	Total	Total	
PPE Kit			
	41400	27600	
1600*7=11200			
Total			
56000			

b)	Quarantine Fac	ility				
SI No	Provider	5 days	7 days	10 days	14 days	Remarks
	name					
1	Avalon Hotel-		Rs.17,500/- plus			Advance payment
	Sanand Janta		taxes per day			Admission subject to
	Multispeciality		Inclusive – AC			final check by hospital
	hospital, ,		room, doctor and			doctor if oxygen is
	Ramdas Road		nursing 24x7, all			below 85 no admission
	Off SG Road,		meals, wifi,			Minimum stay 7-11-14
	Bodakdev,		steamer facility,			nights
	opposite		kadha (once			Extra charges
	Mango		daily), turmeric			Ambulance
	Garden		(once daily), one			Specialist doctor visit
	Bungalow,		assistant doctor			Medicines
	Thaltej		visit per day			Reports suggested by
	9512581581					doctor
						Kindly show ISRO/CHSS
						card for availing facility
2	Ramada by	24*7 doctor and	Rs.8,000/- per			For stable covid patients
	medilink, SG	nursing support	day sharing and			
	Highway,	available	Rs.16,000/- per			
	Corporate Rd,		day single room			
	Near, Prahlad		Food and stay			
	Nagar					
	9723823864					
3	Hotel Nami	Twin sharing	Including AC			Deposit for min 7 days
	Residency by	@Rs1600/day	Room, Breakfast,			in advance
	GCCI, Opp V S	Single	lunch, hi-tea,			Doctor visit,
	Hospital	@Rs2900/day	dinner, turmeric			thermometer, oximeter,
	9712110444		milk (night) and			healthy and hygienic
			kadha			food , mask and
						sanitizer, steam
						machine

SI No	Provider	5 days	7 days	10 days	14 days	Remarks
	name					
4	Palm Greens	Deluxe and super	Rs.8,000/- per			Only mild cases
	club, Shakti	deluxe cottages,	day			
	superspecialit	24x7 medical				
	y, goblej	officer & nursing				
	9925145196	staff, senior				
	9824053333	consultant, ICU				
	9925552003	backup at Shakti				
		Hospital, immunity				
		booster, juice,				
		breakfast, lunch, hi-				
		tea, dinner,				
		mediclaim/insuranc				
		e facility				
5	Pride plaza by	Superior and twin				
	Asian	sharing room, 24*7				
	bariatrics,	medical officer and				
	Dilip Chauhan	nursing staff, senior				
	9978676321	consultant, ICU				
		backup of beds at				
		Asian Bariatrics,				
		pharmacy,				
		radiology and				
		pathology facility,				
		six course meal,				
		oxygen and high				
		end equipment				
		facility, 24*7				
		patient care				
		attendant,				
		ambulance facility				

SI No	Provider	5 days	7 days	10 days	14 days	Remarks
	name					
6	Wyndham		Rs.5,000-6,000/-			Minimum 7 days stay
	Club O7, Shela		per day			mandatory
	7698022242		AC room, Free			Doctor on call
			wifi, breakfast,			chargeable
			lunch and dinner			
			(fixed menu), hot			
			snacks with			
			kaadha (twice)			
7	Hotel Ginger		Rs.9,200/- per			Mild Covid patients
	in tie up with		day			below 55 years age
	Global					
	Hospital, 10/2,					
	Next to					
	Gordhan Thal,					
	S. G. Hwy,					
	opp. The					
	Grand					
	Bhagwati,					
	Bodakdev					
	9879564678					